~H= 21

SECCND STANDARD PARALLEL SOUTH, through RANGE 45 FAST.

———— e e e

CFAINS

22.50

[ 40,00

| Pits impracticable,

| Difference hetween measurement of 4C.00 chs.,by two sets|

fSet a basalt stone, 20x10x5 ins.,15 ins,in the ground, fo7

standard cor.of secs.31 and 323,marked S ¢ on N,,with 5
grooves on ¥F,and 1 groove on W,faces,and raise a mound
of stone,2 ft.base,ls -fr.high, N,o0f cor,

Land,rolling,

Soil, rocky,3rd.rate. E
No timber; undergrowth, greasewood,

Nense undergrewth on 80,00 chs,

west,on S,Bdyv.of sec,31.
Cradual descent,through dense undergrowth.

Road,bears NW,and SE, ;

I

of chainmen is 4 lks,,position of middle noint
By 1lst.set,40.72 chs.,
By 2nd.set,39.98 chs.,the meah of whiech is
Sét a basalt stone,15x12x4 ins.,10 ins.in the ground, fon
Standard + sec.cor.,marked S C £ on N.face,and raise a
mound of stone,2 ft.ﬁése,lg ft.high,N.of 2OP,.
Pits impracticsable, | | g
Difference between measurement of 80,00 chs.,by two"seté
of chainmen is 4 lks.,position of middlie point |

R'}[‘ l‘(;t.get, 80. ")2 O"’lS. [)

By 2nd.set,79.98 chs.,the mean of which is |

standard cor.of Tps.8 S.,Rs.44 and 45 H,,marked
-

s ¢ 8 S on N.,44 E on W,,and 45 k on F.faces,with 6

srooves on N,,F.and W,faces,and raise a mound of stone,

<.

&

2 ft.bhase,ls ft.high,N,of covr,
Pits impracticable.

Land,rolling.

Seil,sandy,3rd,.rate.

No timber: undergrowth, greasewood.
NDense undergrowth on 80,00 chs,

Qctober 26,1906,




